normalized X2

0~ 4 6 8 10 12 14 16 18 20
2

[ normalized x? probability |
0.07

0.06

0.05

0.04

0.03]

Ratio

mmmem DQM_original_step2_tthar-phasel-newgeom

w—m—= DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
e DQM_pixelCPETemplateCutChiSquare5_step2_tthar-phasel-newgeom
weses DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test

>

18F----eenns heeeas P Peeees

< X2/ ndf >
N
o

T T

=
i

< X2/ ndf >

< X2/ ndf >
=
00

i
T T[T [T [T T I [T TIT T

Ratio

1 -1
AR(track, jet?



	Contents
	Page 1


